/\ earth rotational vector
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at North Pole the orm?\nent
of the earth’s rotatipnal wéctor'is

f=+fmax

Equator normal component of
the earth’s rotational vector is f=0

at South pole the normal-component
of earth’s rotational vector is f=-fmax
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beta-plane aproximation
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Take the curl of the momentum

to derive the vorticity equation
[just for the vertical component of
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the vorticity vector].
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D/T << D U/L or
f<<U/Lor

f*U/L << 1 or
Rossby Number << 1
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What does this

say about the relation of
velocity (u;v)y-and—
wave number vector (k,I)?
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